Low Speed Cylinder
Double Acting, Single Rod

Series CJ2X

210, 016

How to Order

Bore size

Standard stroke (mm)
['210 [ 15,30,45,60,75,100, 125, 150 \
| 916 | 15,30,45,60,75,100, 125, 150, 175,200 |

+ Intermediate stroke other than above is manufactured upon

BN cu2x(L
[IERERTE CDu2X L

With auto switch (Built-in magnet)

Mounting style

receipt of order.

Basic style

Axial foot style

Rod side flange style

Oomiriwo

Double clevis style

Port location on head cover

1550

Built-in Magnet Cylinder Model

Suffix the symbol “-A” (Rail mounting style) or “-B”
(Band mounting style) to the end of part number
for cylinder with auto switch.

[ Rail mounting style | CDJ2XB10-45-A
| Band mounting style | CDJ2XB16-60-B

# For the rail mounting type, screws and nuts for two
auto switches are included in the rail.

Example

116/-60|

-M9BW]

Low speed cylinder

[

bracket ")
Note) This symbol is indicated
when the D-A9] or M9

! Auto switch mounting
r of

Bore size. mbe . +
_— 2lodels Auto switch auto switches A switeh is
Nil Perpendicular to axis Nil ‘Without auto switch‘ Nil 2 pcs. This mounting bracket
ial directi * For the applicable auto switch S 1 pc. does not apply to other
i Axial direction model, re?Sr to the table below. n |- "p auto switches (D-C70]
* For configuration, refer to page 1247. n” pes. and H70J, etc.) (Nil)
Applicable Auto Switches/Refer to pages 1893 to 2007 for further information on auto switches.
Electrical 5 Wirin Load voltage Auto switch model Lead wire length (m) Preired
'Type| Special function = 9 Band mounting Rall mounting 05 | 1| 3| 5 |None| Applicable load
enty | 5| (Output 8 ol In-line_| Inine | () ()] (L) | @) [ o |
Savire (NPN) MONV | M9N — = ® /0 0 —| O
5V,12V = = F7NV | F79 | @ | =@ 01— O |6
Grommet S (PNP) ! MOPV | M9P — — ® /00— | O
— — — F7PV F7P ® —|®O0|—| O
£ MOBV | M9B — — ® /00— | O
g 2-wire 12V — F7BV J79 ® — | O0|—| O —
® Connector] — H7C J79C — o —0o/0 0 —
-g ) MIONWV| MONW — — ® /00— | O
s Yos| > 1ie (NP oy — = — |FINWV| F7oW | @ |— @ |O[—| O Rel
[ L 5V,12V IC circuit| oaY
‘5 | Diagnostic indication ! M9PWV | M9PW — ® /00— | O PLC
E (2-color indication) Swire (PNP) = = — F7/PW @ — (@ O|—| O
5 Grommet oowire 1oV M9BWV| MIBW — — ® /00 —| O _
2 — — F7BWV| J79W | @ —|@®@|O|—| O
! 3-wire (NPN) MONAV**| MONA™* O |0|@[O|—] O i
s | jmeme) % weaviweeat = | = Tololelolto e
2-wire 12V M9OBAV**|MOBA™* | — = O |0|®@|0|—| O -
ookt neeon) 4-wire (NPN) 5V,12V H7NF — F79F | @ |—| @ | O|—| O [ICcircuit
£ S-wire 5v | — | A6V | A%6 | — | A76H | ® |—|@|—|—| — [iCcrout| —
L Grommet |V (NPN equivalent)| —
H — 200V — — A72 A72H | @ —|@® |—|—| — _
o —_— L 100V | A93V A93 A73 A73H (| @ —|@® | ® | —| —
é No i v 100Vorless| A90V A90 A80 A8OH | @ |— (@ | —|— | — [ICcircuit| Relay,
b B Yes| <WIe o4y — C73C | A73C [ ] o 00 — — PLC
§ e No 4 Vorless|  — C80C [ A8OC | — [@ |—[@[®]®] — [iCcircu
dedr] | Grommet | Yes| — — A79W — ® —|®|—|—| — —

Consult with SMC regarding water resistant types with the above model numbers.

Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.

* Lead wire length symbols: 0.5 m - Nil  (Example) MONW + Since there are other applicable auto switches than listed, refer to page 1255 for details.
im- M (Example) MONWM + For details about auto switches with pre-wired connector, refer to pages 1960 and 1961.
3m - L  (Example) MONWL
5m - Z (Example) MONWZ

+ Solid state auto switches marked with “O” are produced upon receipt of order.
# D-A90/MOI/M9TIW/A7II/A8001/F700/J70101 auto switches are shipped together (not assembled). (When D-A9CI/M9LI/MOCIW are specified, only auto switch mounting

brackets are assembled before shipped.)
+ D-C700/C800/H700 auto switches are assembled at the time of shipment.
+ Order auto switch mounting brackets separately when D-A90](V)/M9I(V)/MOOIW(V)/MITIA(V) types are mounted with a rail. Refer to page 1255 for details.

1246



Symbol

Double acting, Single rod/Rubber bumper

| APrecautions

Low Speed Cylinder
Double Acting, Single Rod

Series CJ2X

Specifications
Bore size (mm) 10 16
Action Double acting, Single rod
Fluid Air
Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa
Minimum operating pressure 0.06 MPa

Ambient and fluid temperature

Without auto switch: —10 to 70°C (No freezing)
With auto switch: —10 to 60°C (No freezing)

Cushion

Rubber bumper (Standard equipment)

Lubrication

Not required (Non-lube)

Stroke length tolerance

+1.0
0

Piston speed

1 to 300 mm/s

o10

0.035J

Allowable kinetic energy
o016

0.090 J

Standard Stroke

Fe—__-—_—_—_—_—_—_—_—_—_————— b |
1 Be sure to read before handling. 1

I Refer to front matter 39 for Safety!
Instructions and pages 3 to 12 for
jActuator and Auto Switch Precau-,

Bore size (mm)

Standard stroke (mm)

10

15, 30, 45, 60, 75, 100, 125, 150

16

15, 30, 45, 60, 75, 100, 125, 150, 175, 200

| tions. 1 * Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)
b o o o o - f]
- Mounting Style and Accessor
\ Mounting \ goly y
/ACaution
1. During installation, secure the rod cover and Mounti Basic Axial foot | Rod side Double*
tighten by applying an appropriate tightening ounting style style flange style | clevis style
force to the retaining but or to the rod cover — -
body. 25 Mounting nut [ J [ J [J —
If the head cover is secured or the head T _S_ Rod end nut [ [ [ o
cover is tightened, the cover could rotate, S > —
leading to the deviation. @ & |Clevis pin — — — [
2. Proper tightgnilng torque for moy_nting thread - |Single knuckle joint @) O O O
should be within the range specified. Apply a o —
Loctite® (no. 242 Blue) for mounting thread. gx Double knuckle joint* o ®) S ®)
Bore size |Proper tightening torque for mounting thread T-bracket — — — &)
(mm) (N-m) (tightening torque for mounting nut) # Pin and retaining ring are shipped together with double clevis and double knuckle joint.
@---Supplied with the product.
10 3.0t03.2 O---Please order separately.
16 54105.9

3.To remove and install the retaining ring for
the knuckle pin or the clevis pin, use an
appropriate pair of pliers (tool for installing a
type C retaining ring).

Especially with 10, use ultra thin pliers, such
as Super Tool Corp., CSM-07A.

.For the auto switch mounting rail, do not
remove the pre-equipped rail. Since the
mounting thread is drilled through inside a the
cylinder, it will result in air leakage.

IS

\ Operating Precautions \
AWarning

1.1t might not be able to control by meter-out at
a low speed operation.

/ACaution

1. For Series CJ2X, 0.1 N L/min is the values at
maximum in terms of its construction and
there is internal leakage (ANR).

Port Location on Head Cover

For basic style, the port position in a head cover is available either perpendicular to the

axis or in-line with the cylinder axis.

Axial direction e Perpendicular z

Mounting Bracket Part No.

Mounting Bore size (mm)
bracket 10 16
Foot bracket CJ-L010B | CJ-LO16B
Flange bracket | CJ-FO10B | CJ-FO16B
T-bracket* CJ-T010B | CJ-TO16B

# T-bracket is used with double clevis (D).

1247

DWW W|| W
CJ|m| mj| m
<|[|O| | >

D= |[=
NES

T



Series CJ2X

Basic Style (B)

CJ2XB | Bore size |- | Stroke|[ Port location on head cover

Mounting nut *

_oNDhs

CJ2XB10, 16

Rod end nut

NN

Piping port 2 x M5 x 0.8

Piping port
L M5x0.8

| NB Port location on head cover:
S-Stioke ~  Axial location (R)
Z + Stroke -
= For detalils of the mounting nut, refer to page 1250. (mm)
Bore size (mm) | A B [+ D F GA | GB H MM NA | NB NDh8 NN S T Y4
10 15 12 | 14 4 8 8 5 28 M4x07 | 125 | 95 88z M8 x 1.0 46 74
16 15 | 183 | 20 5 8 8 5 28 M5x0.8 | 125 | 9.5 10 Soz M10x1.0 | 47 | — | 75
Axial Foot Style (L)
CJ2XL | Bore size | -[ Stroke|| Port location on head cover|
CJ2XL10, 16 Mounting nut * .
_Cover surface Rod end null NN \\qFo—uGaA- / Eiping'pori2x WS X 0:8 ..GB.. %
MM N o /
i \. - 4
s ¥4 3 5
| B 5 i
=5 [y . {
4 T 6y
LLx | =
e Lz . N.B.._ i .
S + Stroke Port Iocatn:)n on head cover:
it . Z + Stroke 1 Axial location (R)
+ For details of the mounting nut, refer to page 1250.
Boresizemm)| A | B |C | D | F |[GA|GB| H |[LB|LC|LH|LT |LX|LY|LZ| MM |[NAINB| NN |S | T | X |Y |Z
10 1512 |14 | 4 | 8 | 8 | 5 |28 |15|45| 9 | 16|24 |16.5] 32 |[M4x0.7|125]| 9.5 |M8x1.0{ 46 | — | 5 | 7 |74
16 15 |18.3/20 | 5 | 8 | 8 | 5 |28 |23 55| 14 [23|33 | 25 | 42 [M5x0.8|125]| 9.5 |MI0x1.0| 47 | — | 6 | 9 |75

1248



Low Speed Cylinder .
Double Acting, Single Rod Series CJZX

Rod Side FIange Style (F)

CJ2XF | Bore size |- | Stroke|[ Port location on head cover

CJ2XF10, 16

] Mounting nut * Piping port )
Cover surface Rod end nut NN | GA Piping port 2 x M5 x 0.8 GB ) M5x0.8 /
Y Y =1 i P e i &
il ! m "f- —— r| { 4
1 Bz ] H
- L I.L‘u_' _"_bT{_LL Y- % |
FX |
-_I:Z_J Y 2xeFC oLLFT
I + Mounting hole WA L LLNA NE B
. H S + Stroke "l Port location on head cover:
Z + Stroke Axial location (R)
+ For details of the mounting nut, refer to page 1250.
(mm)
Boresizemm)| A | B | C | D | F |FB|FC |FT |[FX |FY |FZ |GA|GB| H MM NA | NB NN S | T |Z
10 15 12 14 4 8 183 |45 | 16 | 24 14 | 32 8 5 28 | M4x0.7 [125| 95 | M8x1.0 | 46 | — | 74
16 15 [18.3| 20 5 8 19 [ 55 |28 | 83 | 20 | 42 8 5 28 | M5x0.8 [125| 9.5 | M10x1.0 | 47 | — | 75
Double Clevis Style (D)
CJ2XD | Bore size |-| Stroke]
Z + Stroke R
H S + Stroke U]
Rod end nut NB oCD "™
MM E"_’_"_‘| Piping port 2 x M5 x 0.8 1GB Clevis pi_n_g 920
2 . o)
L l= t T-bracket
i ! For details, H T
A NA ' | | refer to page 1250. : =
=dmaladan e =]
=::'::£:£::' S .
[ LY.
TW 4xoTC
ZZ + Stroke
= Clevis pin and retaining ring are shipped together.
(mm)
Bore size (mm) | A B C |CD(ed)] CX | CZ D | GA | GB H MM NA | NB| R S u r4 zz
10 15 12 14 3.3 3.2 12 4 8 18 28 M4 x0.7 | 125 | 225 5 46 8 82 93
16 15 183 | 20 5 6.5 | 18.3 5 8 23 28 M5x0.8 | 125 | 275 8 47 10 85 99
T-bracket Dimensions (mm)
Boresize(mm)| TC | TH | TV | TW | TX | TY
10 4.5 29 40 22 32 12
16 5.5 35 48 28 38 16

1249

|| =
m| m
W | >

= EH

x| N
N | X
oo

T



Series CJ2X
Accessory Bracket Dimensions

Clevis Pin mm)  Knuckle Pin (mm)

Single Knuckle Joint (mm)

Material: Stainless steel Material: Stainless steel

Material: Rolled steel
Appicable Aoplceble Appicede Applcabe licadle
Part no. || A+ | Ls | MM |ND"*INX| R+ | Us Partno. %" Dd9 | d | L [Lijm) t| Bt Partno. %% DA9 | d | L |Li|\m| t rélg%\ngmg
1-J010B| 10 | 8 |21|M4x07(33%°*[3.1| 8 | 9 CD-J010| 10 |3:3%363%| 3 |152|122]1.2|0.3|Type C32 CD-J010] 10 |3:335%| 3 |152/122[1.2]0.3|TypeC 32
1-J016B| 16 | 8 |25|M5x08[573° |6.4]12|14 CD-2015| 16 |50 |4.8227)1831.5]0.7| TypeC5 1IY-J015| 16 |556 |4.8[166]122[15]0.7| TypeC5
+ Retaining rings are packaged with clevis pins. = For size 610, clevis pin is diverted.
* Retaining rings are packaged with knuckle pins.
Double Knuckle Joint  mm)  Mounting Nut mm)  Rod End Nut (mm)
—— —

MM @ND hole Hi L
A axis g
[ AR

& D &
| Jurg” AL NKCE o
Li 7 L2 |
.. B ——pH
Material: Rolled steel Material: Brass Material: Iron
Part no. Ai | L | L | MM Applicabl Applicabl
Part no. |RPpicaole Part no. |APpicaole
Y-JO10B | 10 | 8 [152] 21 |M4x07 boe | B C € i e | B C d i
Y-JO16B 16 11 |16.6] 21 |M5x0.8 SNJ-010B| 10 11 [12.7| M8x1.0| 4 NTJ-010A| 10 7 |81 |M4x07 |32
SNJ-016B| 16 14 [16.2| M10x10 | 4 NTJ-015A| 16 8 |92 |M5x08| 4

Partno. | NDe | NDuwo | NX | Ri | Us
Y-JO10B | 33565 | 337%™ | 32 | 8 10
Y-JO16B | 5555 | 5% | 6.5 | 12 | 10
= Knuckle pin and retaining ring are shipped together.

T-bracket (mm) Rod End CaE (mm)

Flat type/CJ-CFOOO  Round type/CJ-CROOO

4x0TC

o | L

Double clevis style cylinder _T.

o
-—ﬁH 2 T '“}qq

1 oo 5

oA [ L

ool L

| A

L W

Material: Polyacetal
Partno. | AP0 \rc| 1Dy, [THITKTN|TT|TU|TVTW TX|TY|TZ kantno Appicablel A ol | MM I N|R|wW
Flat type |Round type| bore

CJT0108B] 10 |45] 333> [20[18[31]2 | 9 |40|22[32[12]8 CJ-CFo10 | CucRoto| 10 1 8 10113 Maxo7 |6 10| 8
CJ-T016B| 16 |55] 5% [35]20|6.4|23]14 48]28]38[16 10 CJ-CF016 | CJ-CRo16 | 16 |10 [12[ 15| M5x08 | 7 [12]10

= T-bracket includes a T-bracket base, single knuckle joint, hexagon socket head cap
screw and spring washer.

1250



Series CJ2X

Auto Switch Mounting 1

Auto Switch Proper Mounting Position (Detection at Stroke End) and lts Mounting Height

Reed auto switch
<Band mounting style>

D-A9]

Auto switch

} iy ot !

L=
i
A || 245 lg

(22)

(): Values for D-A96
A and B are the dimensions from the end of the head cover/
rod cover to the end of the auto switch.

D-A9C1V

Auto switch

A and B are the dimensions from the end of the head cover/
rod cover to the end of the auto switch.

D-C7/C80 )
“He _Auto switch

o
(= o

A |

Auto switch

e

=T

Solid state auto switch
<Band mounting style>

D-mo]
D-meCIwW
D-M9CIA
Auto switch
il £ =
==
A s
A 22 ‘ B
(24)

(): Values for D-M9JA
A and B are the dimensions from the end of the head cover/
rod cover to the end of the auto switch.

D-Mo1v
D-MoIMV
D-MSLIAV
Auto switch
T o
S
allal s

@2)
(): Values for D-MSLJAV
A and B are the dimensions from the end of the head cover/
rod cover to the end of the auto switch.

D-H7O 'Auto switch
D-H7CIW
D-H7NF / .
Broe e R
=Hs
’ AL ) /B
D-H7C

1251

=)
m
=

=)
m
(]

E@z

=)
X
(x]

=)
N
o

T



Series CJ2X
Auto Switch Mounting 2

Auto Switch Proper Mounting Position (Detection at Stroke End) and Its Mounting Height

Reed auto switch
<Rail mounting style>

D-A9C]

D-A9C1V

D-A70C1/A80

Auto switch

2 ||B
(23.5)
(): Values for D-A96

Auto switch
|

Minimum lead W|re
b bending radius 10

LE al

D-A73C/A80C

Hs|

-

TR e
235 || B

Aulo switch

Auto switch

Auto switch

Auto switch

Solid state auto switch
<Rail mounting style>

Auto switch
.

=

235 || B
(25.5)

(): Values for D-M9LJA

D-mMmoC1v
D-M9CIWV
D-M9CIAV Auto switch
=
I
L 215 | B
(23.5)

(): Values for D-MOLJAV

D-F701J79
D-F7O0W/J79W
D-F79F

Auto switch

Auto switch

D-F7OV/F7TOWV

| {
i
LIl

gl

Auto switch

“l. Minimum lead
| wire bending
| 7% radius 10 A

o10




Auto Switch Mounting Series CJ2X

Auto Switch Proper Mounting Position (Detection at Stroke End) and Its Mounting Height

Auto Switch Proper Mounting Position (mm)
Auto switch Band mounting Rail mounting
model
D-A7C0H/A80H
D-M9C] D-M9oC]
D-M9CV | D-C700 | D-H7O D-M9LIV REEGE
D-A9C] D-M9CIW D-C80 D-H7C D-A9[] D-M9CIW D-A7C] D-F7O0W/J79W D-F7NT D-A79W
D-A9CIV |D-MSCIWV | D-C73C | D-H7NF D-A9[IV |D-MOCIWV | D-A80 D-F7OV/F7TOWV
D-M9CIA D-C80C | D-H7CIW D-M9CIA D-F79F
D-M9CJAV D-M9CJIAV -
B D-J79C
ore
szemm\ A [B|[A[B|[A[B|[A[B|A[B|A[B|[A]B A B A[B|[A]B
10 2 2 6 6 25 | 25 15 15105 | 05 | 45 | 45 3 3 3.5 3.5 8.5 85 | 05 | 05
16 25 | 25 | 65 | 65 | 3 3 2 2 1 1 5 5 35 | 35 4 4 9 9 1 1
Note) Adjust the auto switch after confirming the operating conditions in the actual setting.
Auto Switch Mounting Height (mm)
Auto switch Band mounting Rail mounting
model D-A9[]
D-A9T) |D-Mov | D-CTLI D-A9Llv | D-ATLIHIABOH
D-M9L] | D-MOCIWV/| D-C73C D-A70] | D-M9C] ¢ D-A73C |D-F70V
D-MoCIw| D-MoCAv | B-H7C) | p.cgoc | D-H7C | p gy | p-momy | B-F7LIWNTOW| b agoc | p.pzowy| D-J79€C | D-A79W
D-H7OW D-F79F
D-M9LJA | D-A9CV D-H7NF D-M9CIW D-F7NT
Bore - D-MCIWV | °-
size (mm) Hs Hs Hs Hs Hs Hs Hs Hs Hs Hs Hs Hs
10 17 18 17 19.5 20 16.5 17.5 17.5 235 20 23 19
16 20.5 21 20.5 23 23.5 19.5 21 20.5 26.5 23 26 22

1253

DWW W|| W
CJ|m| mj| m
<|[|O| | >

D= |[=
NES

T



Series CJ2X
Auto Switch Mounting 3

Minimum Auto Switch Mounting Stroke

(mm)

No. of auto switch mounted

Auto switch mounting |  Auto switch model 1pe 2 pcs. n pcs. (n: No. of auto switch)
) Different surfaces Same surface Different surfaces Same surface
D-MOL/MICIW 10 15Note 1) 45 Noto 1) 15435 A—L"j 45 + 15 (n-2)
D-M9LCIA/A9C] (n=2, 4, 1) Note 4) (n=2,8,4,5-)
(0-2) 35 + 25 (n-2)
- 5 15 Note 1) 35 15+ 35
D-MoCIV (=24, 6200 ) (n=2,3,4,5-)
D-M9IWV 10 15 Noto ) a5 15+ 35 (020 35+ 25 (n-2)
D-M9CJIAV (n=2, 4, 6.)Notod) (n=2,3,4,5-)
n-2 .
Band mounting D-A9CIV 5 10 35 10+35 iTL 35 +25 (n-2)
(=2, 4,6 )Not08) (n=2,3,4,5-)
D-C70] 15+ 40 02 50 + 20 (n-2)
15 50
D-C80 10 (=2 4 6gRoes | (N1=2,3,4,5-)
D-H7C/H7OW 10 15 60 15+ 45 A_Lnf 60 +22.5 (n-2)
D-H7NF (N=2,4,6:)Note4) (n=2,834,5-)
picrag] 10 15 65 15+ 50 (0220 50 +27.5 (n-2)
D-H7C (=24 6 )0es | (1=2,34,5)
10+ 10 (n-2)
ML 5 - 5 - (n=4, 6...) Note5)
10+ 15 (n-2]
D-ASCIV 5 - 10 - ea b
D-mM9[] _ 15 + 15 (n-2)
D-A9C] 10(5) 10 - (n =4, 6:) Note'5)
D-M9LIWV 10 _ 15 15 +15 (n-2)
D-M9[JAV - (=4, 6...) Note 5)
D-M9CIW B 20 + 15 (n-2)
D-MoCIA 15010) 1 - (n=4, 6.0y N 5)
D-A7L1/A80 y
D-A7CIH/A80H 5 — 10 — (n‘ s ; 250;’1‘02‘2 .
Rail mounting D-A73C/A80C i
D-A7C0H 5 _ 10 _ 15+ 15 (n-2)
D-A80H (n =4, 6.) Note’5)
_ 10 + 15 (n-2)
D-A79W 10 15 _ (=4 6N
D-F70] 5 _ 5 _ 15+ 15 (n-2)
D-J79 (n =4, 6..) Note 5)
D-F700V R _ s B 10+ 10 (n-2)
D-J79C (n=4, 6...) Note5)
D-F7CIW/J79W 15420 (n-2)
B:F;?Fr 1 B 1 - (=4, 6.-.) Note5)
_ 10 + 15 (n-2)
D-F7C0WV 10 15 — (=, 6.y No0s

Note 4) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 5) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
However, the minimum even number is 4. So, 4 is used for the calculation when “n” is 1 to 3.

Note 1) Auto switch mounting

Auto switch model

With 2 auto switches

Different surfaces Note 1)

Same surface Note 1)

Auto switch
D-M9Cy(V)
D-M9C! OI)
D-M9OIA(V)

The proper auto switch mounting position is 5.5 mm inward
from the switch holder edge.
The above A and B indicate values for band mounting in the table of page 1253.

The auto switch is mounted by slightly displacing it in a direction
(cylinder tube circumferential exterior) so that the auto switch
and lead wire do not interfere with each other.

D-M9OC/MOCIW/MOLTIA

Less than 20 stroke Note 2)

Less than 55 stroke Note 2)

D-A90/A93

Less than 50 stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in styles other than those in Note 1.
Note 3) The dimensions stated in ( ) shows the minimum stroke for the auto switch mounting when the auto switch does not project from the end surface of the cylinder

body and hinder the lead wire bending space. (Refer to the figure below.)
These contents apply to the rail mounting with one or two auto switches.

1254




Operating Range

Auto Switch Mounting Series CJ2X

Auto Switch Mounting Bracket/Part No.

(mm)
. Bore size (mm) Auto switch . Bore size
Auto switch model 10 16 mounting Auto switch model 210 216
D-A9C/A9LIV 6 7  Note),Note?) Note 1), Note 2)
(1HBJ2-010 2BJ3-1 (1DBJ2-016 @BJ3-1
o|D-MOCI/MOCIV

‘g DSMOEIW/MOEIWY) 25 8 B Switch bracket

£ p-c7oicsoic7acicsoc | 7 7 1, .~

& [D-H7OM7OW . . a
D-H7NF
D-H7C 8 9 D-A90]

D-A9/A90IV 6 6.5 D-M9oC]
D-MOLYMOLIV o || B
D-M9IW/MOCIWV 3 35 mo:r?tin

o|D-MITA/MITIAV g

£ | D-A7CV/ABO/ATH/A80H 8 9

S |D-A73C/A80C ~ . N

E (®BJ2-0000: A set of a and b in the figure.

g D-A79W " 13 (@BJ-1: A set of ¢ and d in the figure.
D-F7C0N79/F7TOOWI79W BJ4-1 (Switch bracket: White)
D-F7OV/IFTOWV/F79F 5 5 BJ5-1 (Switch bracket: Transparent)

D-J7
Rk D-C70I/C80
. — — - - D-C73C/C80C B B
+ Since this is a guideline including hysteresis, not meant D-H7O/H7OW J2-010 J2-016
to be guaranteed.
(Assuming approximately +30% dispersion.) D-H7NF
There may be the case it will vary substantially Note 3) Note 3)
depending on an ambient environment. BQ2-012 BQ2-012
D-A9]
D-A9C1V
D-mo] [}
Rail | D-MOLIV BQ2-012
mounting | D-M9CIW ~
D-mMoCIWV
D-M9JA
D-M9CJAV

Note 1) Two kinds of auto switch mounting brackets are used as a set.
Note 2) Auto switch mounting brackets are shipped together with cylinders.

Note 3) When mounting a compact auto switch on the @10 or @16 rail mounting type, order auto switch

mounting bracket shown in the table above. Order it separately from the
Example
CDJ2BX10-60-A ---- 1 unit

BQ2-012

cylinder.

Note 4) For the D-M9LJA (V) type auto switch, do not install the switch bracket on the indicator light.

L L L T LT
Other than the applicable auto switches listed in “How to Order”, the following auto switches
can be mounted. For detailed specifications, refer to pages 1893 to 2007.

Auto switch type

Model

Electrical entry (Direction) Features

D-C73, C76
D-C80

Without indicator light

Solid state

D-H7A1, H7A2, H7B

Grommet (in-line)

D-H7NW, H7PW, H7BW

Diagnostic indication (2-color indication)

+ With pre-wired connector is available for solid state auto switches. For details, refer to pages 1960 to 1961.
+ Normally closed (NC = b contact), solid state auto switches (D-F9G, FOH type) are also available. For details, refer to page 1911.

1
1
1
1
1 Reed
1
1
1
1
1

1255

N X
mim|m
O|m| =

E@z

x| N
N | X
oo





